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Make sure your diagram represents the right latifude...

https://new-learn.info/packages/clear/thermal/climate/sun/sunpath_diagrams.html
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and read off the solar altitude from the values shown...

https://new-learn.info/packages/clear/thermal/climate/sun/sunpath_diagrams.htmi
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Computation path of the sun for:

01.Dec.2018 | 11:40 UTC+3.5 [BYES

Solar data for the selected location
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visit also our
alternative website
for the calculation
of the moon data
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https://www.suncalc.org
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H=T*Tana=5*1=5m

H=T* Tan a = 5* 0.58= 2.90m
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Derivation of the Parallax Height Equation

[
—-<——Negatives———

Figure 6.3. Geometry for the derivation of the level-terrain parallax height equation.
(Courtesy of U.S. Forest Service, Pacific Northwest Forest and Range Experiment Station.)
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Calculating Object Heights using
Stereoscopic parallax

* Absolute stereoscopic
parallax - the average
photo base length =
average distance between
PP and CPP

Differential parallax - the
difference between the
stereoscopic parallax at
the top and base of the

object. Calculating the height of the Washington

W.M. example: dp = Monument via stereo parallax
2.06-1.46 =0.6 1n




P Gl SYILL
Stereo Photograph Geometry

Measurments for parallax height calculations:

1. Determine average photo-base (P)

Average distance between PP and CPP for stereopair

Slse K8 93 53 jobws Ko 5 gudl 5 K8 B S e Aol L Kle i 3lhe LSYILL

Example: if then
P, =65 mm P =64mm
P, =63 mm
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parallax wedge

parallax Bar
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Stereo Photograph Geometry

Measurments for parallax height calculations:

2. Determine average photo-base (dP)

Difference of the distances between feature bases and tops while stereopair is
In stereo viewing postion.

ndt

Example: If then
d, = 2.06 dP =0.6
d, = 1.46.
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H= 4100 m
h= 1750
dp = 13.24-12.35=0.89

— 2 dP P — 65:62=63.5

h

_ (4100-1750)+0.89
_ 63.5+0.89

=32.48 m
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_(H—h)xdp

AB™ P+dp

dp = JwMLS‘foMoJJ\FJJP—Lwdaj.s&\fov\.&lov\;\j}.).lﬁ
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A = \\/Armm
B =\Y/40mm

(H —}_1) *dp C =\\/A*mm
= P +dp D =A/00 mm
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J\f wfﬁ‘)\g\.}cﬁ o.JJU?'- :.Lﬁ‘gMQV‘;JLAwSYUE cj'.c\'/\' (hA)\.wu.hb

n _(H-h)xdp

AB A =\\/Armm
P+dp B =\Y/40mm

_ C =\\/A*mm

=51.80 m D =A/00 mm

_(4150-1080)x1.15
hsp=
67+1.15

hg=h,+ h,p = 1080+51.80= 1131.80 m

dp — Jj_épwd.]aj.sé‘f oL oJ\..s‘j}'- She — L.wd.h..a.sé‘f oLl o.l.'s\j}'- dJ)e
dp(AB) =12.95-11.80=1.15 mm
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n _(H-h)xdp
AC — A = \\/Avmm
P+dp B =\Y/40mm
C =\V/Avmm

D =A/00 mm

h.=h, = 1080 m

dp = JJ.PQGMLS“}JOMOJJ“}}JJP_LA/QA.MJLS“}JOMOJJ‘FJV\;

dp(AC) =11.80-11.80=
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_(H-h)Xdp
hAD_ P+dp A = \\/Avmm
B =\Y/40mm
C =\\/A*mm
= 142.03 m D —A/00 mm

_ (4150-1080)%3.25
hap=
67+3.25

hp=hy+ h,p = 1080-142.03= 937.97m

dp — J)—@DMA.IQLLS‘JJ oL oJ\..s‘j}'- She — L.wd.h..a.sé‘f o o.l.'s\j}'- dJe
dp(AD) = 8.55-11.80=- 3.25 mm
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_(H—h)xdp

AB™ P+dp

_ (3880-1364)%4.95

hap=—— = = 153.85 m

dp = Jsgze 4l gl ol okl g sde — L 4l (gl ol ol 4= sUe

dp(AB) = 20.9-15.95=4.95 mm
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(3880—1364)%x4.95
76+4.95

= 153.85m

Rap=

Syl (S L5.?:.%\ lols =Y/0 x\F=0F s

a3 ) Ju;\
T = 0 100= 274%
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